EMBOSS TYPE SHEET! REVISIONS
BRAND 1 OF 4
SHORT LONG FLUSH REV. NO.| ZONE: | DATE: | ECN NO.|APPVD: DESCRIPTION
CLOPAY 9200, HDP20 | 9203, HDPL20 | 9201, HDPF20 02 - | 7/22/14 - SH REVISED FOR TDI; UPDATED REV TO MATCH 104751,
, 03 = 3/2/20 | EN2736 SH REVISED MAX WINDOW SIZE AND TITLE BLOCK
IDEAL 8200 8203 8201 O s 2/ =
Evbins Tk o, T 04 - | 9/28/20 = SH ADDED IBC/IRC COMPLIANCE STATEMENT.
HOLMES 7200 7203 7201 CONTAINS A CENTER
OPTIONAL IMPACT RESISTANT GLAZING. SEE SECTION THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC.
HINGE. ATTACHED WITH B & O "SHeeT
DOUBLE SIDED ACRYLIC ~ O FOR DETAILS. MAX IMPACT
ADHESIVE TO BACK OF RESISTANT GLAZING 19—1/2"x12".
_—>A
r‘ DOOR. -8
STRUT AND TOP BRACKET
ARRANGEMENT WITH STANDARD
Z Y/ 7 V/ % V. 47 i 7 Y Z Vi ,)f ’?/ Z V. ENDSTILE AND TOP SECTION SOLID OR STRUT AND TOP BRACKET ARRANGEMENT WITH
| [ GLAZED (SHOWN). / STANDARD ENDSTILE AND LITES IN TOP SECTION.
| ;! 16 GA. DOUBLE END STILES.
5 . : MAY BE NOTCHED FOR LITES.
| T i A &
N I 1 | | 1 1 // // // / / / / /
e B ] L | A | | e | ey
- = B
- = 1 . = < - y [T
£&C S == dlhe S dih; i ABh; R = VIEW "B”" (SEE SHEET THREE).
~ U VIEW “C" (SEE SHEET THREE). T HEH o H N 0ol HEH 0o
g I Y|P ul [y A - Al L ) —— U P " 4| |1k WUy W— | ) | — T ——
Ee : N I
% 8 ntanier = i L _I'J' L4 I p-. ] (8 A Lo ey T g 's_ _______ . = .} L .l = . Lol o] = . =
i B T T (i o ik ol & Tl il [0 T i i 0l 0o 8
< <€
== C = = — - \ ------- —
' TWO POINT LOCKING
i (- INTO TRACK. - e
T Ir =il |1 LT il |1y (N =T [IY 71 I TiIr Tl |ir—— i il == i T i |1y M Ir =
11 11 X (X1 1] [T 11 | K] 11 1 11 11 11 11 11 ] i 11 11 11 11 1l 11 11 Il 1] Il 1]
| ¥ iy “ . g A el “ . [ ey .+ ————— Sy T Al [ e [ ~ . by H M "] s '] charat ezt
: |
B N\ (2) LHR TOP BRACKETS USED AS
-—A N\_ INNER BOTTOM BRACKET.
MAX. DOOR WIDTH = 18'-2" (1) 3—IN ROLLER CARRIER (P/N SNAP LATCH ENGAGES
INSI ATIONS 0120394) USED WITH 3" TRACK. ONTO VERTICAL TRACK. E%EE
S 4 OF ONE SNAP LATCH ON S
— SECTIONS Si\BE 2011 Teck EACH SIDE OF DOOR.
UP 10 770 4 - ENGAGES INTO
73 10 6§57 5 g VERTICAL TRACK. OUTSIDE
9'0° TO 10’6 6 . ONE LOCK ON HANDLE. LOCK BAR
10'9° 10 123" 7 EACH SIDE OF  ouTSIDE = ENGAGES IN
12'6° 10 14°0° 8 DOOR. KEYED STILE TRACK ON
L {0 IN | LT INSIDE HANDLE o DOgk
MAX SECTION HEIGHT: o1 ST K Wi

DESIGN ENGINEER:.-

(ofe feg2d

MARK WESTERFIELD, P:E.
FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513

OUTSIDE KEYED LOCK WITH
SNAP LATCH LOCK OPTION.

DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F.
S.F. & —63.0 P.S.F.

TEST LOADS: +57.0 P

LOCK BAR KING.

MANUFACTURING PRODUCT CODE

DSIU-1F171

PART NO.: N/A

Unless Stated Otherwise

TOLERANCES are

.0 = £.031

.00 = £.015
.000 = £.005
.0000 = %.001
Degrees = +1/2°

a= Glopay

CORPORATION

8585

Duke Boulevard

Mason, OH 45040 USA
Tel. No. 513-770-4800

Fax No. 513-770-4853

w6 D

WINDLDAD RATING

P33

Unless Stated Otherwise
DIMENSIONS ARE IN INCHES.

DESCRIPTION: 2" PUR INS. DOORS TO 182" (SEE TABLE FOR MODELS)
DRAWN BY: SH DATE: 11/6/12 [SCALE: NTS DWG.
CHECKED BY: SH DATE: 11/8/12 |SHEET 1 OF 4 [SIZE
DWG. NO.: 104777 VER: DI

4



EMBOSS TYPE SHEET! REVISIONS
BRAND 2 OF 4
SHORT LONG FLUSH REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
CLOPAY 9200, HDP20 |9203, HDPL20 | 9201, HDPF20 04 - - - - SEE REVISION HISTORY ON SHEET ONE.
IDEAL 8200 8203 8201
HOLMES 7200 7203 7201 D
IMPACT—RESISTANT CONSTRUCTION:
SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
IMPACT—RESISTANT. OPTIONAL MAX WINDOW SIZE 19-1/2"x12" INJECTION—MOLDED —
POLYCARBONATE FRONT FRAME AND GLAZING IS GE LEXAN SLX2432T, AN APPROVED CC2
PLASTIC IN ACCORDANCE WITH IBC/FBC 2606.
THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT.
SECTION B—B (IMPACT—RESISTANT GLAZING OPTION)
" DETAL D’ C
OPTIONAL DECORATIVE /'/ —a.as—h-‘\- MULTIPURPOSE HIGH BOND TAPE
SNAP—IN INSERT.\< - (BETWEEN FRAME AND FACADE).
- /.j ‘)/~DECORATIVE FRONT FACADE.
u.las—}- = \
\ / STRUCTURAL SILICONE SEALANT
/' (BETWEEN STEEL SKIN AND FRAME),
e
L —
IMPACT RESISTANT -
ONE—PIECE INJECTION POLYSTYRENE RETAINER FASTENED TO FRAME WITH
MOLDED GE LEXAN (10) #8 x 3/4" PAN HEAD MACHINE SCREWS. B
SLX2432T FRONT
FRAME & GLAZING.
- N \:\\\.‘.\“
o e MANUFACTURING PRODUCT CODE
DSIU-1F171
DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F.
TEST LOADS: +57.0 P.S.F. & —63.0 P.S.F. PART NO.: N/A A
: Unless Stated Otherwise - ﬂlu a 5555 Dghe4ggg[|}evl?srg WINDLOAD RATING
Y/ N : TOLERANCES are gl
/ i : R Tel. No. 513-770-4800
y At ; _ 0= +031 |CORPORATION  Fox No. 513-770-4853 \/\/ 6 D P 3 8
/ 902/2020 o G 688 = i-ggg DESCRIPTION: 2" PUR INS. DOORS TO 18'2" (SEE TABLE FOR MODELS)
e I3 S 0000 = -+.001 |DRAWN BY: SH DATE: 11/6/12 | SCALE: NTS DWG.
DESIGN ENGINEER: = Degrees = *1/2° [CHECKED BY: SH DATE: 11/8/12 |SHEET 2 OF 4 |SIZE
MARK WESTERFIELD, P.E.-- Unless Stated Otherwise -
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104777 VER: TDI

4 3



4 3 e 2 1

EMBOSS TYPE SHEET: REVISIONS
BRAND 3 4
SHORT LONG FLUSH OF REV. NO.[ ZONE: [ DATE: | ECN NO.| APPVD: DESCRIPTION
CLOPAY | 9200, HDP20 | 9203, HDPL20 | 9201, HDPF20 04 - - = = SEE REVISION HISTORY ON SHEET ONE.
IDEAL 8200 8203 8201
HOLMES 7200 7203 7201 SILICONE FILLED CHANNEL SEPARATES

FRONT AND BACK SKIN OF DOOR.

TOP_SECTION_WITH LITES: (2) 18 GA. GALV.
STEEL TOP ROLLER BRACKETS (2-7/16" x
3-3/4"). EACH BRACKET ATTACHED W/(4)
#14x5/8” SHEET METAL SCREWS.

SOLID TOP SECTION: (2) 12 GA. GALV. STEEL
TOP ROLLER BRACKETS (2-1/2" x 5-3/8".
EACH BRACKET ATTACHED W/(4) #14x5/8"
SHEET METAL SCREWS. ADJUSTABLE SLIDE
ATTACHED TO TOP BRACKET WITH (2)
1/4"x1/2" BOLTS AND NUTS PER BRACKET.

IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES:

1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 URETHANE CORE, 2.4 |
SOUTHERN YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE P.C.F. DENSITY.
SUPPORTING STRUCTURE TO CREATE THE MOUNTING SURFACE.
ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE
SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE
MUST BE AT LEAST %’ FROM BOTH EDGES FOR A 5/16" LAG SCREW.

2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING
STRUCTURE (WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE
WOOD BUCK OVER SHALL BE INSTALLED THE WALLBOARD FRAMING THE
OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER,
THE JAMB ATTACHMENT FASTENERS MUST BE OF A SUFFICIENT INCREASED
LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE
PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS
OF THE SUPPORTING STRUCTURE.

27 GA. (0.016"” MIN.} INTERIOR STEEL SKIN
(DRAWING QUALITY) WITH G—40 MIN. GALV.,
BAKED—ON PRIMER AND A BAKED-ON
POLYESTER PAINTED TOP COAT APPLIED TO
BOTH SIDES OF STEEL SKIN.

14 GA. GALV. ROLLER HINGE. EACH HINGE

ki g/ FASTENED TO END STILES WITH (4) #14x5/8"

—|-1/2* FROM EDGE

. #14x5/8" SHEET METAL SCREWS VIEW "D” Y SHEET METAL AND (2) 1/4"x3/4" SELF
4" TALL TAPER STRUT. 9 TAPPING SCREWS. SEE VIEW "B”.
MIN. 0.062” GALV. STEEL,
MIN. 80 KSI.
.\ T.‘,-j-'i-j ONE 4" T—STRUT PER SECTION. (SEE
1/4°x3/4" SELF VIEW "D") EACH T—STRUT ATTACHED AT
TAPPING SCREWS. EACH HINGE LOCATION WITH (2)
14 GA. END HINGES 18 GA. (MIN.) INTERMEDIATE HINGE 1/4'x3/4" SELF TAPPING SCREWS.
VIEW "B” VIEW "C”
PREPARATION OF JAMBS BY OTHERS. . _/ =
27 GA (0.016” MIN.) EXTERIOR STEEL 15
SKIN WITH G—40 MIN. GALV. BAKED—ON 450
VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS): POLYESTER PAINTED TOP COAT APPLIED :
3/87x3" LAG SCREWS ON 19" CENTERS. 1—1/8" 0.D. WASHER REQUIRED. LAG SCREWS TO BOTH SIDES OF STEEL SKIN. 13 GA. GALV. STEEL BOTTOM BRACKET ATTACHED
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. WITH (2) #14x5/8” SHEET METAL SCREWS.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD. ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
VERT MENT (C— R N):
3/8"x3" SLEEVE ANCHOR BOLTS ON 11” CENTERS (2,000 PS| MIN. CONCRETE).
WASHERS INCLUDED WITH SLEEVE ANCHORS. SECTION A—A (SIDE_VIEW
OR
1/4"x3" TAPCON SCREWS ON 9” CENTERS (2,000 PSI MIN. CONCRETE) OR 5” CENTERS
=+ (C—90 BLOCK), 1” 0.D. WASHERS REQUIRED WITH TAPCONS.
g C #ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING HANDEACTURING PRODUCT CODE
SN URFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. DSIU-1F171
& DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F
; TEST LOADS: +57.0 P.S.F. & —63.0 P.S.F. PART NO.: N/A
: OTHER QAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN UniossStoted Otherviss | D T e R TS
5 " PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR TOLERANCES are -l}ln @Y  Voson OH 45040 Ush
tal el. No. — =
> U8 R ORATIONS: 0= 2031 |CORPORATION  Fax No. 513-770-4853 \/\/ 6 D P 3 8

o 688 = i'&’)g DESCRIPTION:  2” PUR INS. DOORS TO 18'2" (SEE TABLE FOR MODELS)
DE fGN CNGINEER. (:'"»f‘ 0000 = +.001 DRAWN BY: SH DATE: 11/6/12 | SCALE: NTS DWG.
SN, L TN sl Degrees = +1/2° [CHECKED BY: SH DATE: 11/8/12 [SHEET 3 OF 4 |SIZE
MARK WESTERFJELD,'. -P'.EI., Unless Stated Otherwise / /
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.|DWG. NO.: 104777 VER: TDI

4 | 3 -~ 2 1




4 3 <& 2 1
EMBOSS TYPE SHEET: REVISIONS
BRAND 4 OF 4
SHORT LONG FLUSH REV. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION

CLOPAY 9200, HDP20 | 9203, HDPL20 | 9201, HDPF20 04 - — ~ — SEE REVISION HISTORY ON SHEET ONE.
NOTE: TRACK CONFIGURATION ABOVE THE
DOOR OPENING DOES NOT AFFECT THE

IDEAL 8200 8203 8201 WIND LOAD RATING OF THIS DOOR.

HOLMES 7200 7203 7201

2" TRACK CONFIGURATION.

HORIZONTAL TRACK
SUPPORT BY DOOR

INSTALLER (TO SUIT).

AN DOOR
- ' HEIGHT | "L”
7 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 6—6"] 70"
JAMB WITH (3) 5/16” X 1-5/8" LAG SCREWS 70" 767
AND TO TRACK WITH (2) 1/4” RIVETS. 6" 8"
= a‘—g" 88”
o i " 8'-6"] 94"
] AS RQD: SPACING NTE 14" 0.C. 9=0"[100"
x 9'—6"1106"
8 2" GALV. STEEL TRACK, 1004112,
. TRACK THICKNESS: 0.083". 0" [124”
E 11:—6: 130"
& o 12°-0"[136"
m ., 12'—6"[142"
- 38 TYP. 2—1/2" X 12 GA GALV. 13'—-0"[148”"
z STEEL TRACK BRACKETS, 13'—6"[154"
z - ATTACHED TO JAMB WITH (1) 14'-0"]160"
o 24 5/16" X 1-5/8" LAG SCREW PER 14'-6"[166"
TRACK BRACKET. 15=0"[172"
) 15'—6"[178"
10 16'-0"[184"

1 -3-1/2"

JAMB CONFIGURATION
FOR_2" TRACK.

1" DOOR OVERLAP (EACH SIDE)

2x6 SYP WOOD JAMB. SEE 5" MIN;
"JAMB ATTACHMENT” NOTES. I

OPTIONAL STOP MOULDING BY INSTALLER (TO SUIT).

16 GA GALV. STEEL DOUBLE—END-STILE FASTENED WITH (1) #8 X 1/2" WAFER SCREW.
END STILE DIM.: 5-3/4 X 2—-1/8" X 3/8".

]

7/16" 1.D. ROUND
PUSH NUT
FASTENER.

14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.

2-1/2" X 12 GA GALV. STEEL
TRACK BRACKETS FASTENED TO
WOOD JAMBS WITH 5/6" X 1-5/8"
LAG SCREWS NOT TO EXCEED 14"
ON—CENTER. MIN. OF (9) LAG
SCREWS REQUIRED PER JAMB.

18 GA. GALV. STEEL CENTER HINGE
FASTENED TO INTER. STILES W/(4) EACH
#14x5/8" SHEET METAL SCREWS.

2" GALV. STEEL TRACK FASTENED TO
12 GA GALV STEEL TRACK BRACKETS
WITH EITHER (2) 1/4" DIA. RIVETS OR
(1) 1/4" X 5/8" BOLT & NUT PER

2" DIA. 7-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.

TRACK BRACKET. Tl =

PREPARATION OF JAMBS BY OTHERS. LHR BRACKET (2-1/2" x 5-3/4" x 12GA)

ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO

DESIGN ENGINEER! =~

3" TRACK CONFIGURATION.

MARK WESTERFIELD,  PE.
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513

NOTE; TRACK CONFIGURATION ABOVE THE
DOOR OPENING DOES NOT AFFECT THE
WIND LOAD RATING OF THIS DOOR.

CENTER HANG REQUIRED FOR

DOORS OVER 8' HIGH.

-

il

USED WITH "DOUBLE END STILE®" AS SHOWN IN
ZONE B-3 SHEET 1.

M 1

R DOUBLE TRACK
FOR 3" TRACK.

LOW HEADROOM OPTION
(AVAIL. FOR BOTH 2" AND 3" TRACK)

DOUBLE HORIZONTAL
TRACK.

1" DOOR OVERLAP (EACH SIDE)

2x6 SYP WOOD JAMB. SEE STOP MOULDING BY DOOR INSTALLER (TO SUIT).

3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK "JAMB ATTACHMENT” NOTES. sz 16 GA GALV. STEEL DOUBLE—END-STILE FASTENED WITH (1) #8 X 1/2" WAFER
THICKNESS: 0.101”. ANGLE THICKNESS: 0.080". HORIZONTAL TRACK SCREW. END STILE DIM.: 5-3/4 X 2—1/8" X 3/8".
MIN. ANGLE DIMENSIONS 3—1/4" x 2-7/8". SUPPORT BY DOOR
= ” INSTALLER (TO SUIT). |
VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING 3-1/4” x 2-7/8" MIN. x 0.080" TAPERED ?
= 2 NUTS FOR EACH  TRAGK. SLOT TO TRACK JUNGTION ANGLE, SEE IS FOR) MOTRICRET Ac o " I 18 GA. GALV. STEEL CENTER HINGE
m - ONFIGURATION BELOW. %;E, gD} ROUND FASTENED TO INTER. STILES W/(4) EACH
" METAL SCREWS.
g N’ ADDITIONAL MOUNTING SLOTS FASTENER. WEEO/E" ShEEl WAL, SCRENS
11 e Al e SEIIERS: 0.101” THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
0 . TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
— —12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
5 - NUT AT EACH MOUNTING SLOT.
] 3" DIA. 8~1/2" LONG STEM BALL BEARING STEEL ROLLER.
I
o SECTION C—C MANUFACTURING PRODUCT CODE
S 34" NE.N %s, TRSACK BOL}T,IACF)\I'\II) NUT AT EACH PREPARATION OF JAMBS BY OTHERS. DSIU-1F171
& HESNEAS S DESIGN LOADS: +38.0 P.SF. & —42.0 P.S.F. o
T TEST LOADS: +57.0 P.S.F. & —63.0 P.S.F. PART NO.: N/
A Unless Stated Otherwise - 8585 Duke Boulevard WINDLDAD RATING
TRACK LENGTH
e roleraNceS o (g Blopay e YR |\ TS G
8-0" | 84" y y 0= +.031 |CORPORATIO Fox No. 513-770-4853
" 9—0" [ 96" ONE 5/16” x 1-5/8" LAG SCREW SPACED AT THE SAME .00 = £.015 — 5w s -
y 10 -0 1087 DISTANCES AS THE' TRACK BOLTS (LE. 3-1/2". 10%, 22". 34" 5= B0 DESCRIPTION: 2" PUR INS. DOORS TO 18'2" (SEE TABLE FOR MODELS)
3-1/2" f-g gg 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001 |DRAWN BY: SH DATE: 11/6/12 | SCALE: NTS DWG.
6=07 180" ERIEl /RO PR o, & Ao Degrees = +1/2° |CHECKED BY: SH DATE: 11/8/12 |SHEET 4 OF 4 [SIZE
""""" : Unless Stated Otherwise
DIMENSIONS ARE IN INCHES.| DWG. NO.: 104777 VER: TDI

4

-, 2 1




